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Chapter 11 Equations

(11.1) Y = AD
(11.2) AD=C+1+G+X-1IM
(11.3) C=C+c(Y-T)
T=T
=1
(11.4) IM =M +mY
X=X
G=G
(11.5) Y=AD C+c(Y-T)+1+G+X-IM -—mY
(11.6) Y,=a[A+X-IM]
where o = ( j =C-cT+1+G
I-c+m
AD=C +c(Y -T)+1+G +EX -IM —mY =A+ X —IM +(c—m)Y
AD
Y=AD
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Figure 11.1: Equilibrium in the Keynesian Cross

(11.7) AY = @[AA+ AX — AIM ]

(11.8) AY =aAG

$1+$c+$(CcH+$(C)+... +$(c®)=1/(1-c)>$1
AY =a = ! >1

AGO 1-c+m
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Figure 11.2: Change in income due to a change in autonomous spending
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-$c-$(cH)-$(c+... -$(c”)=-c/(1-c) =—ca

=—Ca

(11.9) TB=X—IM=X—1M —mY
(11.10) BuS=T-G=T-G

ATB = —maAG < 0

ABuS = —AG < 0

(11.4) IM = IM + mY — nq
(11.11) X=X+vq
(11.12) Yo=a[A+X—IM + (n+v)q] leta = (Hlm)
(11.13) AY = @[AA + AX — AIM + (n + v)Aq]

AY = a(n+ v)Aq i—:=&(n+v)>0

(11.9) TB = (X +vq) — (IM + mY —nq)
ATB = (AX + vAq) — (AIM + mAY — nAq)
ATB = (vAq) — (mAY — nAq)
ATB = (v + n)Aq — ma(n + v)Aq)
ATB = (1 —ma)(v +n)Aq



